Informational Report for the July 21, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Chabot College -	Community Edu	cation									
					Provide service as Campus Counselor for Kids on Campus	Community					
Alari	Krissina	M.	Chabot	Yes	Program Teach Math and Language Arts to Kids On Campus	Education Community	\$ 10.00	125	\$ 1,250.00	6/8/2015	7/9/2015
Balbin	Eunizelle	B.	Chabot	Yes	Program Teach foreign languages to Community	Education Community	\$ 35.00	30	\$ 1,050.00	6/15/2015	7/9/2015
Campbell	Arvanderlyn	R.	Chabot	No	Education students Provide service as Campus Counselor for Kids on Campus	Education Community	\$ 35.00	47	\$ 1,645.00	6/15/2015	7/9/2015
Johnson	Nathan	M.	Chabot	Yes	Program Teach TV Production to Kids on Campus	Education Community	\$ 10.00	125	\$ 1,250.00	6/8/2015	7/9/2015
Naraghi	Khashayar	F.	Chabot	No	Program	Education	\$ 35.00	7	\$ 245.00	7/6/2015	7/16/2015
Chabot College					Provide services for costume design work for summer	School of the					
Amayo-Hassan	Linda	nmi	Chabot	No	productions	Arts	\$ 50.00	20	\$ 1,000.00	4/1/2015	5/29/2015

Informational Report for the July 21, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum		Maximum Amount	Assign Beg. Date	Assign End Date
					Work as a Project								
					Aide for the	Disabled							
					disadvantaged youth	Student							
					summer sports	Programs							
Bell	Tylore	M.	Chabot	Yes	program	and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
					Provide safety								
					services including	Disabled							
					Life Guard for the	Student							
					youth summer sports	_		4 = 00	4.00	•	4 = 00 00	0/40/0045	- /0.0 /0.0 / -
Carboni	Lucas	M.	Chabot	Yes	program	and Services	\$	15.00	100	\$	1,500.00	6/12/2015	7/30/2015
					Serves as a college	California							
					coordinator for the	Early							
					Early Children	Children							
			0		Development Mentor	Mentor		Φ=0.00	4.0		# =00.00	E /4 E /00 4 E	0/00/0045
Costello-Chevis	Margaret	M.	Chabot	No	Program	Program		\$50.00	10		\$500.00	5/15/2015	6/30/2015
					Work as a Project	Disabled							
					Aide for the	Disabled							
					disadvantaged youth	Student							
Caraia	Zovdo	_	Chabot	Yes	summer sports	Programs and Services	\$	13.65	120	\$	1,638.00	6/22/2015	7/23/2015
Garcia	Zeyda	A.	Chabot	165	program Provide data	and Services	Ф	13.03	120	Φ	1,036.00	0/22/2015	1/23/2013
					gathering, analysis								
					and support the								
					services for the								
					Climate Justice								
					Initiative for the								
					environmental justice	Academic							
Heltzel	Eric	w.	Chabot	No	program	Services		\$20.00	100		\$2,000.00	6/2/2015	6/30/2015

Informational Report for the July 21, 2015 Board of Trustees Meeting

				New Emp to				Hourly			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division		Rate	Maximum		Amount	Beg. Date	End Date
					Work as a Project								
					Aide for the	Disabled							
					disadvantaged youth	Student							
					summer sports	Programs							
Licuanan	Lois Carmel	A.	Chabot	Yes	program	and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
					Provide editing and								
					filming project	Arts,							
					services for	Humanities							
		_			television station	and Social	_			_		_,,_,_,	- / / /-
Naraghi	Khashayar	F.	Chabot	No	operations	Sciences	\$	25.00	109	\$	2,725.00	5/15/2015	6/30/2015
					Work as a Project	Disabled							
					Aide for the	Disabled Student							
					disadvantaged youth	Programs							
Nelson	Ariel	ļ,	Chabot	Yes	summer sports program	and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
14613011	Allei	L.	Chabot	163	Work as a Project	and Services	Ψ	13.03	120	Ψ	1,030.00	0/12/2013	7/30/2013
					Aide for the	Disabled							
					disadvantaged youth	Student							
					summer sports	Programs							
Pinkney	Robert	R.	Chabot	Yes	program	and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
,													
						Foster and							
					Provide support for	Kinship Care							
Powell	Yvette	L.	Chabot	No	PRIDE classes	Education	\$	20.00	125	\$	2,500.00	6/1/2015	6/30/2015
					Provide safety								
					services including	Disabled							
					Life Guard for the	Student							
Damina-	Ob win time	_	Chahat	V	youth summer sports		φ.	45.00	400	Φ	4 500 00	0/40/0045	7/20/2045
Ramirez	Christina	A.	Chabot	Yes	program	and Services	\$	15.00	100	\$	1,500.00	6/12/2015	7/30/2015

Informational Report for the July 21, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum		Maximum Amount	Assign Beg. Date	Assign End Date
					Provide marketing services for Arts Humanities and	Arts, Humanities and Social							
Schultz	Melissa	M.	Chabot	Yes	Social Sciences	Sciences	\$	100.00	65	\$	6,500.00	5/29/2015	12/31/2015
Serna-Hernandez	Maximilian	nmi	Chabot	Yes	Work as a Project Aide for the disadvantaged youth summer sports program	Disabled Student Programs and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
Sema-nemanuez	IVIAXIIIIIIIAII	1111111	Chabot	165	program	and Services	φ	13.03	120	Ψ	1,030.00	0/12/2013	7/30/2013
Taylor	Titus	S.	Chabot	Yes	Provide project services for the Summer Youth Sports Program Work as a Project Aide for the	Disabled Student Programs and Services Disabled	\$	15.00	60	\$	900.00	1/1/2015	6/30/2015
Torres	Klarissa	A.	Chabot	Yes	disadvantaged youth summer sports program	Student Programs and Services	\$	13.65	120	\$	1,638.00	6/12/2015	7/30/2015
Townsand	Michelle	F.	Chabot	Yes	Serve as Project Lead for the Summer Youth Sports Program	Disabled Student Programs and Services	\$	18.00	100	\$	1,800.00	6/12/2015	6/30/2015
Vazquez	Akilah	V.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$	65.00	100	\$	6,500.00	7/1/2015	12/31/2015

^{*} Weekly hiring limitations are to be monitored by the hiring manager *

Informational Report for the July 21, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Las Positas College	2										
Gach	Sharon	V.	Las Positas	No	Provide project services for Accreditation	President's Office	\$ 28.00	13.5	\$ 378.00	5/1/2015	5/19/2015
Gourley	Regina	A.	Las Positas	Yes	Facilitate expanded and comprehensive assessment services and provide outreach services to students	Student Services	\$ 30.00	350	\$ 10,500.00	7/1/2015	12/31/2015
			Las		Provide automotive training for General	Science, Technology, Engineering, Math &			,		
Hagopian	Brian	J.	Positas	No	Motors	Public Safety	\$ 53.00	280	\$ 14,840.00	7/1/2015	8/15/2015
Peters	Kelly	A.	Las Positas	Yes	Provide services as a health educator to students	Student Health and Wellness Center	\$ 17.00	195	\$ 3,315.00	6/15/2015	8/6/2015
Pfann	Jonathan		Las Positas	Yes	Provide expertise and lab senario practo to Emergency Medical System students	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	4	\$ 60.00	7/1/2015	12/31/2015

Informational Report for the July 21, 2015 Board of Trustees Meeting

				New Emp to			н	ourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site		Duties	Division		Rate	Maximum	Amount	Beg. Date	End Date
										1 200 0000	9	
					Provide support for							
					student Veterans in							
					the Veterans							
			·		Engineering	.						
0.11	0		Las	V	Technology Pathway	Student	_	45.00	400	# 40 000 00	0/4/0045	0/00/0045
Solberg	Gregory	S.	Positas	Yes	Program	Services	\$	45.00	400	\$ 18,000.00	6/1/2015	9/30/2015
					Provide pre-service							
					and on-going training	Foster						
			Las		to Alameda Foster	Kinship Care						
Stewart-Felix	Paula	D.	Positas	No	parent for FKCE	Education	\$	50.00	100	\$ 5,000.00	7/1/2015	12/31/2015
0.0110.1110.001		1		1			T			• •,•••••	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
District Services												
					Provide support for							
					the Workforce	Tri-Valley						
Alvarez	Miguel	A.	District	No	Investment Act	One Stop	\$	31.01	630	\$ 19,536.30	7/1/2015	12/31/2015
					To provide special							
					project services, as							
					needed, for the							
D - 'I -	D	_	District		Board of Trustees	Chancellor's	_	50.00	050	Ф 00 5 00 00	7/4/0045	40/04/0045
Bailey	Beverly	F.	District	No	and Chancellor	Office	\$	50.00	650	\$ 32,500.00	7/1/2015	12/31/2015
					for student	OSHA						
			D.		registration	Training					0/4-/004-	0/00/00/
Cairel	Akexander	J.	District	Yes	reconciliation project	Center	\$	10.00	50	\$ 500.00	6/15/2015	6/30/2015
					Provide support for							
					the operations of the Workforce	Tri Valley						
Castaneda	Christian	A.	District	No	Investment Act	Tri-Valley One Stop	\$	27.00	630	\$ 17,010.00	7/1/2015	12/31/2015
Casianeua	Ciliblian	۸.	טוטנווכנ	INU	Provide support for	One Stop	Ψ	21.00	030	ψ 17,010.00	7/1/2015	12/31/2013
					the Workforce	Tri-Valley						
Gallegos	Alexandra	nmi	District	No			\$	27.00	630	\$ 17,010.00	7/1/2015	12/31/2015
Gallegos	Alexandra	nmi	District	No	Investment Act	One Stop	\$	27.00	630	\$ 17,010.00	7/1/2015	12/31/2015

^{*} Weekly hiring limitations are to be monitored by the hiring manager *

Informational Report for the July 21, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
						OSHA					
					To provide services	Training					
Jones	Akeba	J.	District	Yes	for card processor	Center	\$ 18.00	50	\$ 900.00	6/1/2015	6/30/2015
Milanese	Donald	R.	District	No	Supports special assignments and projects including Collective Bargaining Agreement negotiations	Human Resources	\$ 100.00	40	\$ 4,000.00	7/1/2015	9/30/2015
Milanese	Donaid	K.	DISTRICT	INO	Provide support for	Resources	\$ 100.00	40	\$ 4,000.00	7/1/2015	9/30/2015
Mirande	Norene	M.	District	No	the operations in support of the Workforce Investment Act	Tri-Valley One Stop	\$ 24.52	630	\$ 15,447.60	7/1/2015	12/31/2015
					Provide support for						
					the Workforce	Tri-Valley					
Purcell	Sheila	R.	District	No	Investment Act	One Stop	\$ 31.01	630	\$ 19,536.30	7/1/2015	12/31/2015
					Provide services to the Solano County Child Welfare Services as a curriculum developer and trainer under						
Oh amb and	l inner		District	NI-	Solano County Title	Contract	6 400 00	000	# 00 000 00	7/4/0045	40/04/0045
Shepherd	Lissette	nmi	District	No	IV-E's contract Provide support for	Education	\$ 100.00	630	\$63,000.00	7/1/2015	12/31/2015
Simormon	Gerald	C.	District	No	the Workforce Investment Act	Tri-Valley One Stop	\$ 36.39	630	\$ 22,925.70	7/1/2015	10/24/2045
Simerman	Gerald	U.	ואוווטו	INO	IIIVESIIIIEIII ACI	One Stop	φ 30.39	030	φ ∠∠,9∠5./0	1/1/2015	12/31/2015